SAT Practice

Paragraph Improvement

Section 7 (30-35)


(1) Prison reformers point out that college-study programs are cheap and effective means of reducing the number of prisoners who get arrested after their release; some are even saying that such programs are the most cost-effective way of dealing with the problem of recidivism. (2) It may be true that these programs are cheap, and that they do have the beneficial effect of reducing recidivism somewhat, but are they the cheapest and effectivest means?


(3) The only evidence for the cheapness of such programs is that educational programs have minimal costs because for the most part they are provided by community colleges and universities that offer moderately priced tuition. (4) No idea is given of how these "moderate" prices stack up against other prison programs like work-release, drug-therapy, counseling, etc. (5) College-study programs may be cheap, but can we accept the reformers’ conclusion that they are the cheapest and most effective? (6) They seem unlikely.


(7) More to the point, their effect on the overall recidivism rate would be minimal. (8) Unfortunately, college study programs are aimed only at a significantly limited sub-set of the total prison population. (9) Since seventy percent of prisoners never finished high school, and another sixteen percent never attended at all, only fourteen percent of all prisoners, being the only ones to have finished high school and be ready to do college-level work, would be in a position to take advantage of college-study programs. (10) Because college-study programs would only be available to high-school graduates, that college-study programs could have only a minor effect on recidivism. 


(11) If that prisoners who cannot take advantage of the college-study program will repeat offend at the same rate as always, known to be 60%, that still leaves over 51% of prisoners who will repeat offend. (12) And this is only from the non-college-study group. (13) It is presumable that some of the college-study prisoners would repeat offend as well, brining the level of this number up. (14) While it would be admirable to reduce the recidivism rate even a little bit, it hardly seems like what this provides counts as the most effective possible means. (15) This is particularly true since that result would be limited to a small portion of the total prison population.

30.
Which of the following revisions is necessary to make sentence 2 (reproduced below) grammatically correct?


It may be true that these programs are cheap, and that they do have the beneficial effect of reducing recidivism somewhat, but are they the cheapest and effectivest means?
(A)
Leave it as it is.

(B) Delete “means”.

(C) Change “are they” to “is it”.

(D)
Change “effectivest” to “most effective”.*

(E)
Insert “means” after “cheapest”.

31.
Which is the best way to deal with sentence 6 (reproduced below)?

They seem unlikely.

(A)
Leave it as it is.

(B)
Delete it.

(C)
Change “They seem” to “It seems”.*

(D)
Change “unlikely” to “uncertain”.

(E)
Replace it with “Probably not.”

32.
In context, which of the following is the best replacement for the underlined portion of sentence 7 (shown below)?

More to the point, their effect on the overall recidivism rate would be minimal.

(A)
the effect of these on

(B)
effectiveness of these to reduce

(C)
college-study programs effect on

(D)
the college-study programs would effect

(E)
the effect of college-study programs on*

33.
In context, what is the best change for sentence 10 (reproduced below)?

Because college-study programs would only be available to high-school graduates, that college-study programs could have only a minor effect on recidivism.

(A)
Leave it as it is.

(B)
Delete “that”.*

(C)
Add “These reformers say” at the beginning.

(D)
Change “Because” to “It is a fact that”.

(E)
Rephrase the sentence to begin with “Since college-study programs could have only a minor effect on recidivism”.

34.
In context, which is the best version of sentence 13 (reproduced below)?


It is presumable that some of the college-study prisoners would repeat offend as well, bringing the level of this number up. 

(A)
(As it is now)

(B)
It can be presumed how some of the college-study prisoners would repeat offend also, thus bringing up this number.

(C)
Presumably some of the college-study prisoners would also repeat offend, bringing this number higher.*

(D)
This number would be brought up higher because one can presume that  some of the college-study prisoners would repeat offend as well.

(E)
Not to mention the college-study group who, presumably, raise this number higher by repeat offending as well.

35.
Which of the following is the most logical conclusion to follow sentence 15?

(A)
An even smaller portion of the prison population would limit the result further.

(B)
The college-study program is, therefore, likely to be an inexpensive success.

(C)
However, the policy of educating prisoners cannot be adequately judged by these facts.

(D)
Such a program is not a good policy for achieving an overall reduction of recidivism in America.*

(E)
Consequently, it is an obvious waste of money to provide a college-study program to repeat-offending prisoners.

